Math 9 Date:
Section 8.3: Similar Polygons

A polygon is a (‘,\_OQP,d C,\(\(M\DC, that consists of line segments. For example,
triangles, quadrilaterals, and octagons are all polygons.
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When one polygon is an enlargement or a reduction of another polygon, we say the polygons

are similar. Similar polygons have the same shape but not the same size.

Two polygons are similar when:

1 Qorrespondmg s10eS have same proport ion. (scalefactor)
2. _Matching aNgleS Qce equal. |

Example 1

List all the corresponding sides and angles for
the following diagrams.
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Example 2

Are the following quadrilaterals the same? Explain.
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Example 3
These two polygons are similar. Find the corresponding lengths.
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Example 4

These two quadrilaterals are similar. Find the length of JM.

Example 5
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Identify any pairs of similar rectangles.
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Example 6
The two octagonal garden plots are similar.

(a) Determine the length of GH. <>(>
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